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Question Id : 92090622772 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Question Numbers : (1 to 5)
Question Label : Comprehension

According to Cole, the present state, carries with it the marks of its perversion hy
capitalism. Our present feeble attemts, Cole explains in his book Social Theory, to
inaugurate democracy in politics are frustrated by the existence of a system
approaching slavery in industry. Not poverty of the masses, but slavery is the curse of
capitalism. Capitalism and demoecracy go together. Cole was opposed to the democratie
system of government as it worked in actual practice. He attacked the system of
territorial representation. A person who represents his locality cannot be expected to
decide questions relating to the relationship between the producers and the
consumers. Henece, Cole advocated the reorganization of society on a functional basis.
When society is organized as a federation of functional organizations, each one
democratically controlled, there will be no place for the present state organization. In
a guild society the functions, which an all- inclusive association may properly be taken
over by co-ordinating bodies more in harmony with the principles of freedom and
funcation which will actuate that societ. Cole writes : “It is impossible to reperesent
human beings as person or centres of consciousness; it is quite possible to represent,
though with an inevitable elements of distrortion which must always be recogmized, as
much of human beings as they themselves put into associated effort for a specifie

purpose.”

Sub questions

Question Number : 1 Question Id : 92090622773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ¢

Statement | :  According to Colo, the present state, carries with it the marks of
its perversion by capitalism.

Statement I : A person who represents his locality can be expected to decide
questions relating to the relationship between the producers and
the consumers.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement Il are false
(3) Statement I is true but Statement 11 is false

(4) Statement [ is false but Statement 1l is true

Options :

92090690001. 1
92090690002. 2
92090690003. 3
92090690004. 4

Question Number : 2 Question Id : 92090622774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Antonym of the term ‘feeble’ 1s:

(1) stupid (2) foolish
(3) sreat (4) Strong
Options :

92090690005. 1
92090690006. 2
92090690007. 3
92090690008. 4

Question Number : 3 Question Id : 92090622775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out the meaning of the term "actuate’ from the options given below:

(1) Participating in a particular sphere
(2)  The ability to make good judgements
(3)  Motivate to act in a particular way

(4) Telling

Options :

92090690009. 1
92090690010. 2
92090690011. 3
92090690012. 4

Question Number : 4 Question Id : 92090622776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Cole, not poverty of the masses, but is the curse of capitalism.
(1) negligence (2) slavery
(3)  education (4) bad health

Options :

92090690013. 1
92090690014. 2
92090690015. 3
92090690016. 4

Question Number : 5 Question Id : 92090622777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
One word substitution:

(iive a misleading account or impression of:

(1) Distort (2) Distress
(3) Distrain (4) Distinet
Options :

92090690017. 1
92090690018. 2
92090690019. 3
92090690020. 4



Question Id : 92090622772 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

According to Cole, the present state, carries with it the marks of its perversion hy
capitalism. Our present feeble attemts, Cole explains in his book Social Theory, to
maugurate democracy in politics are frustrated by the existence of a system
approaching slavery in industry. Not poverty of the masses, but slavery is the curse of
capitalism. Capitalism and demoeraey go together. Cole was opposed to the democratie
system of government as it worked in actual practice. He attacked the system of
territorial representation. A person who represents his locality cannot be expected to
decide questions relating to the relationship between the producers and the
consumers. Hence, Cole advocated the reorganization of society on a functional basis.
When society is organized as a federation of functional organizations, each one
democratically controlled, there will be no place for the present state organization. In
a guild society the functions, which an all- inelusive association may properly be taken
over by co-ordinating bodies more in harmony with the principles of freedom and
funcation which will actuate that societ. Cole writes : “It is impossible to reperesent
human beings as person or centres of consciousness; it is quite possible to represent,
though with an inevitable elements of distrortion which must always be recognized. as
much of human beings as they themselves put into associated effort for a specific

purpose.”

Sub questions

Question Number : 1 Question Id : 92090622773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ¢

Statement | :  According to Colo, the present state, carries with it the marks of
its perversion by capitalism.

Statement I : A person who represents his locality can be expected to decide
questions relating to the relationship between the producers and
the consumers.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement Il are false
(3) Statement I is true but Statement 11 is false

(4) Statement [ is false but Statement 1l is true

Options :

92090690001. 1
92090690002. 2
92090690003. 3
92090690004. 4

Question Number : 2 Question Id : 92090622774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Antonym of the term ‘feeble’ 1s:

(1) stupid (2) foolish
(3) sreat (4) Strong
Options :

92090690005. 1
92090690006. 2
92090690007. 3
92090690008. 4

Question Number : 3 Question Id : 92090622775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out the meaning of the term "actuate’ from the options given below:

(1) Participating in a particular sphere
(2)  The ability to make good judgements
(3)  Motivate to act in a particular way

(4) Telling

Options :

92090690009. 1
92090690010. 2
92090690011. 3
92090690012. 4

Question Number : 4 Question Id : 92090622776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Cole, not poverty of the masses, but is the curse of capitalism.
(1) negligence (2) slavery
(3)  education (4) bad health

Options :

92090690013. 1
92090690014. 2
92090690015. 3
92090690016. 4

Question Number : 5 Question Id : 92090622777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
One word substitution:

(iive a misleading account or impression of:

(1) Distort (2) Distress
(3) Distrain (4) Distinet
Options :

92090690017. 1
92090690018. 2
92090690019. 3
92090690020. 4



Sub-Section Number : 2

Sub-Section Id : 920906729
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 6 Question Id : 92090622778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct passive voice for the sentence given below:
Neeraj Chopra won gold medal in the Tokyo Olymaoic 2020.

(1) Gold medal won by Neeraj Chopra in the Tokyo Olympic 2020.
(2)  Gold medal hed been won by Neera) Chopra in the Tokyo Olympic 2020.
(3) (Gold medal was won by Neeraj Chopra in the Tokyo Olympic 2020.
(4)  Gold medal has been won by Neeraj Chopra in the Tokyo Olympie 2020.
Options :
92090690021. 1
92090690022. 2

92090690023. 3
92090690024. 4

Question Number : 6 Question Id : 92090622778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct passive voice for the sentence given below:
Neeraj Chopra won gold medal in the Tokyo Olymoic 2020.

(1)  Gold medal won by Neeraj Chopra in the Tokyo Olympic 2020.
(2)  Gold medal hed been won by Neera) Chopra in the Tokyo Olympic 2020.
(3)  Gold medal was won by Neeraj Chopra in the Tokyo Olympic 2020,
(4)  Gold medal has been won by Neeraj Chopra in the Tokyo Olympie 2020.
Options :
92090690021. 1
92090690022. 2

92090690023. 3
92090690024. 4



Question Number : 7 Question Id : 92090622779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[dentify the correct speech for the sentence given below. Riva said,
“How can I do such a foolish mistake™?

(1)  Riva told how could she do such a foolish mistake.
(2)  Riva aske how can she do such a foolish mistake.
(3)  Riya suggerted how she can do such a foolish mistake.

(4)  Riva thought how she could do such a foolish mistake.

Options :

92090690025. 1
92090690026. 2
92090690027. 3
92090690028. 4

Question Number : 7 Question Id : 92090622779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[dentify the correct speech for the sentence given below. Riva said,
“How can I do such a foolish mistake™?

(1)  Riva told how could she do such a foolish mistake.
(2)  Riva aske how can she do such a foolish mistake.
(3)  Riya suggerted how she can do such a foolish mistake.

(4)  Riva thought how she could do such a foolish mistake.

Options :

92090690025. 1
92090690026. 2
92090690027. 3
92090690028. 4

Question Number : 8 Question Id : 92090622780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct order of P, , R, 5, to create a meaningful sentence:
A sequence of utterences

P: anticipate the future ones

Q: subjects or voice that responds

R: is a dialogue of speaking

=: to former utterances and

(1) PQRS (2) RQSP
(3) QSPR (4) QPSR
Options :

92090690029. 1
92090690030. 2
92090690031. 3
92090690032. 4

Question Number : 8 Question Id : 92090622780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct order of P, Q, R, 5, to create a meaningful sentence:
A sequence of utterences

P: anticipate the future ones

(): subjects or voice that responds

R: 1s a dialogue of speaking

5: to former utterances and

(1) PQRS (2) RQSP
(3) QSPR (4) QPSR
Options :

92090690029. 1
92090690030. 2
92090690031. 3
92090690032 4

Question Number : 9 Question Id : 92090622781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sentence:

(1) You haven't seen the film, haven't you?
(2)  You haven't seen the film, did you?
(3)  You haven't seen the film, have you?

(4) You haven't seen the film, do you?

Options :

92090690033. 1
92090690034. 2
92090690035. 3
92090690036. 4

Question Number : 9 Question Id : 92090622781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sentence:

(1) You haven't seen the film, haven't you?
(2)  You haven't seen the film, did you?
(3)  You haven't seen the film, have you?

(4) You haven't seen the film, do you?

Options :

92090690033. 1
92090690034. 2
92090690035. 3
92090690036. 4

Question Number : 10 Question Id : 92090622782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out which part of the following sentence has an ervor.
(1) Arushi is weak in Maths
(2) and do not understand the

(3)  calculations

(4)  though her mother explains her repeatedly.

Options :



92090690037. 1
92090690038. 2
92090690039. 3
92090690040. 4

Question Number : 10 Question Id : 92090622782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Find out which part of the following sentence has an ervor.

(1) Arushi is weak in Maths
(2) and do not understand the
(3)  calculations

(4)  though her mother explains her repeatedly.

Options :

92090690037. 1
92090690038. 2
92090690039. 3
92090690040. 4

Question Number : 11 Question Id : 92090622783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[dentify the correct combination of the member of “QUAD".

(A) India

(B) Vietman

(C) Japan

(D)  Austraha

(E) USA

(F) South Korea

Choose the correct answer from the options given helow :

(1) (A, (B).(C), (D)
(2) (A, (D), (E), (F)
(3) (A (B), (E), (F)
(4) (A, (€), (D), (E)



Options :

92090690041. 1
92090690042. 2
92090690043. 3
92090690044. 4

Question Number : 11 Question Id : 92090622783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[dentify the correct combination of the member of “"QUAD".

(A) India

(By Vietman

(C) Japan

(D) Australia

(E) USA

(F) South Korea

Choose the correct answer from the options given helow :

(1) (A). ([B). (C), (D)
(2) (A, (D), (E), (F)
(3) (). (B), (E), (F)
(4)  (A), (€), (D), (E)

Options :

92090690041. 1
92090690042. 2
92090690043. 3
92090690044. 4

Question Number : 12 Question Id : 92090622784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shiv Kumar Sharma who passes away recently was a:

(1)  Flute player (2) Santoor player
(3) Tabla player (4) Esraj player
Options :

92090690045. 1



92090690046. 2
92090690047. 3
92090690048. 4

Question Number : 12 Question Id : 92090622784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shiv Kumar Sharma who passes away recently was a:

(1)  Flute player (2) Santoor plaver
(3)  Tabla player (4) Esraj player
Options :

92090690045. 1
92090690046. 2
92090690047. 3
92090690048. 4

Question Number : 13 Question Id : 92090622785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[n which Indian state Gangaur Festival 15 predominantly celebrated:

(1) West Bangal (2) Punjab
(3) Rajasthan (4) Karnataka
Options :

92090690049. 1
92090690050. 2
92090690051. 3
92090690052. 4

Question Number : 13 Question Id : 92090622785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In which Indian state Gangaur Festival is predominantly celebrated:

(1) West Bangal (2) Punjab
(3) Rajasthan (4) Karnataka

Options :



92090690049. 1
92090690050. 2
92090690051. 3
92090690052. 4

Question Number : 14 Question Id : 92090622786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which Union Minmistry 1s associated with the Citizenship (Amendment) Act, 2019?

(1) Ministry of External Affairs

(2) Ministry of Defence

(3) Mimistry of Housing and Urban Affairs
(4)  Mimstry of Home Affairs

Options :

92090690053. 1
92090690054. 2
92090690055. 3
92090690056. 4

Question Number : 14 Question Id : 92090622786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which Union Minmistry 1s associated with the Citizenship (Amendment) Act, 2019?

(1) Ministry of External Affairs

(2) Ministry of Defence

(3) Mimistry of Housing and Urban Affairs
(4)  Mimstry of Home Affairs

Options :

92090690053. 1
92090690054. 2
92090690055. 3
92090690056. 4

Question Number : 15 Question Id : 92090622787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Election Commission of India (ECI) has decided to freeze the election symbol of
which of the following party?

(1) Lok Janshakti Party (2) Dravida Munnetra Kazhagam
(3) Aam Aadmi Party (4) Apna Dal
Options :

92090690057. 1
92090690058. 2
92090690059. 3
92090690060. 4

Question Number : 15 Question Id : 92090622787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Election Commission of India (ECI) has decided to freeze the election symbol of
which of the following party?

(1) Lok Janshakti Party (2) Dravida Munnetra Kazhagam
(3 Aam Aadmi Party (4) Apna Dal
Options :

92090690057. 1
92090690058. 2
92090690059. 3
92090690060. 4

Question Number : 16 Question Id : 92090622788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a row of students, the position of Vineeta from the left side of the row 15 26t and
the position of Vineeta from the right side of the row is 234, Find the total number of
students in the row?

(1) 46 (2) 47
(3) 48 (4) 49
Options :

92090690061. 1
92090690062. 2
92090690063. 3



92090690064. 4

Question Number : 16 Question Id : 92090622788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a row of students, the position of Vineeta from the left side of the row 15 26t and
the position of Vineeta from the right side of the row 1s 234, Find the total number of
students in the row?

(1) 46 (2) 47
(3) 48 (4) 49

Options :

92090690061. 1
92090690062. 2
92090690063. 3
92090690064. 4

Question Number : 17 Question Id : 92090622789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After interchanging the first and last digits in each of the following numbers, identify
the correct sequence of number in the ascending order.

(A) 146
(B) 453
(C) 678
(D) 254
(E)y 942

Choose the correct answer from the options given below :

(1) (A), (E), (B), (C), (D)
(2)  (C), (B), (D), (A). (C)
(3 (A, B). D). (E). (C)
(4)  (E), (A), (C). (B). (D)

Options :

92090690065. 1
92090690066. 2
92090690067. 3



92090690068. 4

Question Number : 17 Question Id : 92090622789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After interchanging the first and last digits in each of the following numbers, identify
the correct sequence of number in the ascending order.

(A) 146
(B) 453
(C) 678
(D) 254
(E)y 942

Choose the correct answer from the options given below :

(1) (A), (E), (B). (C). (D)
(2)  (C), (B), (D), (A). (C)
(3 (A, B). D). (E). (C)
(4 (E), &), (C), (B). (D)

Options :

92090690065. 1
92090690066. 2
92090690067. 3
92090690068. 4

Question Number : 18 Question Id : 92090622790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Five friends Amit, Bipin, Chandan, Dinesh and Edwin are sitting on a beach. Amit is
sitting next to Bipin, Chandan is sitting next to Dinesh is not sitting with Edwin who
is on the left end of the beach. Chandan is on the second position from the right. Amit
15 to the right of Bipin and Edwin. Amit and Chandan are sitting together. Who 15 in
the centre?

(1) Dinesh (2) Chandan
(3 Amit (1) Bipin
Options :

92090690069. 1



92090690070. 2
92090690071. 3
92090690072. 4

Question Number : 18 Question Id : 92090622790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Five friends Amit, Bipin, Chandan. Dinesh and Edwin are sitting on a beach. Amit is
sitting next to Bipin, Chandan is sitting next to Dinesh is not sitting with Edwin who
15 on the left end of the beach. Chandan 1s on the second position from the right. Amit
15 to the right of Bipin and Edwin. Amit and Chandan are sitting together. Who is in
the centre?

(1) Dinesh (2) Chandan
(3) Armt (4) Bipin
Options :

92090690069. 1
92090690070. 2
92090690071. 3
92090690072. 4

Question Number : 19 Question Id : 92090622791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing to a photograph of a boy, Nita said, “He is the son of the only daughter of my
mother”. How 1s Nita related to the boy?

(1) Sister (2) Niece
(3) Mother {(4) Aunt
Options :

92090690073. 1
92090690074. 2
92090690075. 3
92090690076. 4

Question Number : 19 Question Id : 92090622791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pointing to a photograph of a boy, Nita said, “He is the son of the only daughter of my
mother”. How is Nita related to the boy?

(1) Sister (2) Niece
(3) Mother {(4) Aunt
Options :

92090690073. 1
92090690074. 2
92090690075. 3
92090690076. 4

Question Number : 20 Question Id : 92090622792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series: 1368, 684, 114, 38 _... Which one of the following number should
come next in the series?

(1) 16 2 17
(3) 18 (4) 19
Options :

92090690077 1
92090690078. 2
92090690079. 3
92090690080. 4

Question Number : 20 Question Id : 92090622792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series: 1368, 684, 114, 38 .... Which one of the following number should
come next in the series?

(1) 16 2 17
(3) 18 (4) 19
Options :

92090690077. 1
92090690078. 2
92090690079. 3
92090690080. 4



Question Number : 21 Question Id : 92090622793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man purchased 36 pens in a cartain amount and sold 27 pens in the same amount.
The percentage of gain is:
2 I

(1) 165 % (2) 335 %

I

() 12— % (1) GGE %

1
2
Options :

92090690081.
92090690082.

92090690083.
92090690084.

AW N~

Question Number : 21 Question Id : 92090622793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man purchased 36 pens in a cartain amount and sold 27 pens in the same amount.
The percentage of gain is:

(1) 16% % (2) 33]; %

() 12— % (1) GG% %

x
2
Options :

92090690081.
92090690082.

92090690083.
92090690084.

AW N =

Question Number : 22 Question Id : 92090622794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A can do a work in 20 days, B can do in 30 days and C can do in 60 days. If A is helped
by B and C every third day. The number of days they will take to competed the work
15:

(1) 15 days (2) 12 days
(3) 18 days (4) 9days
Options :

92090690085. 1
92090690086. 2
92090690087. 3
92090690088. 4

Question Number : 22 Question Id : 92090622794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A can do a work in 20 days, B can do in 30 days and C can do in 60 days. If A is helped
by B and C every third day. The number of days they will take to competed the work
15:

(1) 15 days (2) 12 days
(3) 18 days (4) 9days
Options :

92090690085. 1
92090690086. 2
92090690087. 3
92090690088. 4

Question Number : 23 Question Id : 92090622795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The different ways in which the letters in the word ' N AZI B A B A D' can be
arranged 1s:

(1) 362880 (2) 30240
(3) 60480 (4) 90720
Options :

92090690089. 1
92090690090. 2
92090690091. 3



92090690092. 4

Question Number : 23 Question Id : 92090622795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The different ways in which the letters in the word ' N AZI B A B A D' can be
arranged 1s:

(1) 362880 (2) 30240
(3) 60480 (4) 90720
Options :

92090690089. 1
92090690090. 2
92090690091. 3
92090690092. 4

Question Number : 24 Question Id : 92090622796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Difference of 2/3 of 63 and 1/3 of 93 is:

(1) 12 (2) 31
(3) 11 (4) 21
Options :

92090690093. 1
92090690094. 2
92090690095. 3
92090690096. 4

Question Number : 24 Question Id : 92090622796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Difference of 2/3 of 63 and 1/3 of 93 is:

(1) 12 (2) 31
(3) 11 (4) 21
Options :

92090690093. 1



92090690094. 2
92090690095. 3
92090690096. 4

Question Number : 25 Question Id : 92090622797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II :

In a test of class X one third of listed students appeared in test got grade B, one

fourth got B, one sixth got grade B and one eighth failed i.e.grade C. Everyone else got
grade A,

List [ List I1
(A) Minimum number of student get grade A () 6
(B) Minimum number of student get grade B* (Iny 4
(C) Minimum number of student get grade B (It 3
(D) Minimum number of student get grade B (IVy 8

(Choose the correct answer from the options given below:

(1) (A)-D, B)-AV). (C)-11), (D)-(11T)
(2)  (A)-IV), B)-(1D), (C)-(I1I), (D)-(D)
(3)  (A)-UID), (B)-(D), (C)-(IV), (D)D)
(1)  (A)-ID, (B)-(ID). (C)-(D), (D)-(IV)

Options :

92090690097. 1
92090690098. 2
92090690099. 3
92090690100. 4

Question Number : 25 Question Id : 92090622797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List I1 :

In a test of class X one third of listed students appeared in test got grade B, one

fourth got B, one sixth got grade B and one eighth failed i.e.grade C. Everyone else got
grade A

List List I1
(A) Minimum number of student get grade A (I) 6
(B) Minimum number of student get grade B* (Iy 4
(C) Minimum number of student get grade B (Il 3
(D) Minimum number of student get grade B (IV) 8

Choose the correct answer from the options given helow:

(1) (A)-D, (B)-(IV), (C)-(1D), (D)-(11I)
(2)  (A)-IV), ([B)-(D). (C)-(I1I). (D)-(D)
(3) (A)-(ILT), (B)-(D). (C)-(IV), (D)-(11)
(4)  (A)-ID, (B)-(1D), (C)-(D), (D)-(IV)

Options :

92090690097. 1

92090690098. 2

92090690099. 3
92090690100. 4

Part B: History of Art

Section Id : 920906452
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906730
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090622798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

From which Indus site the famous Dancing Girl was discovered
1. Mohenjo Daro
2. Kalibangan
3. Lothal

4. Dholavira

Options :

92090690101. 1
92090690102. 2
92090690103. 3
92090690104. 4

Question Number : 26 Question Id : 92090622798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ry T & o it & RIS T 1 3 T g 27

(1)  WigTras! (2) PIAETH
(3) Y (4) AR

Options :

92090690101. 1
92090690102. 2
92090690103. 3
92090690104. 4

Question Number : 27 Question Id : 92090622799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Mational Emblem of India, Ashokan Lion Pillar, is housed in:
1. National Museum, New Delhi
2. Indian Museum, Kolkata

3. Sarnath Museum, Varanasi

4. Bihar Museum, Patna



Options :

92090690105. 1
92090690106. 2
92090690107. 3
92090690108. 4

Question Number : 27 Question Id : 92090622799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R BT A Uellep, 3120 o1 Rig TR, Hel U 391 71 67

(1) A Heray, -1 fael (2) MR HUgIad, Bidbrdl
(3)  WRATY HYETeH, IR (4) UK YUgd, yeA
Options :

92090690105. 1
92090690106. 2
92090690107. 3
92090690108. 4

Question Number : 28 Question Id : 92090622800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which is not an architectural feature of a temple building
1. Shikhara
2. Torana
3. Anda

4. Amalaka

Options :

92090690109. 1
92090690110. 2
92090690111. 3
92090690112. 4

Question Number : 28 Question Id : 92090622800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



7 7§ 1 Ui arg-Rrediy fafrear e ey & a7 31 76 82

(1) AR (2) dRUl
(3) oS (4) 3D
Options :

92090690109. 1
92090690110. 2
92090690111. 3
92090690112. 4

Question Number : 29 Question Id : 92090622801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Didarganj Yakshani belongs to which period:
1. Sunga
2. Gupta
3. Kushana

4. Maurya

Options :

92090690113. 1
92090690114. 2
92090690115. 3
92090690116. 4

Question Number : 29 Question Id : 92090622801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

drereie afgoft ey ra T g9y @dt 82

(m 1 (2)
3) FIH 4) #HA
Options :

92090690113. 1
92090690114. 2
92090690115. 3



92090690116. 4

Question Number : 30 Question Id : 92090622802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Karle Caves in Maharashtra belong to which religious affiliations?
1. Buddhist
2. Jain
3. Hindu
4. Ajivika

Options :

92090690117. 1
92090690118. 2
92090690119. 3
92090690120. 4

Question Number : 30 Question Id : 92090622802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HERTEE &1 STd b1 5y ol | Ha&fad g2

1) = (2) SH
3) &g (4) 3fulifd®d
Options :

92090690117. 1
92090690118. 2
92090690119. 3
92090690120. 4

Question Number : 31 Question Id : 92090622803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Avalokitesvara is identified by the presence of which Dhyani Buddha:
1. Amoghsiddhi
2. Akshobhya
3. Amitabh

4. Ratnasambhava

Options :

92090690121. 1
92090690122. 2
92090690123. 3
92090690124. 4

Question Number : 31 Question Id : 92090622803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SHaaeauR &1 iy eI g5 3 IuiRifa § siftgm forn s @2

(1 g (2) Sfeig
(3)  SffFay (4) IeTHMd
Options :

92090690121. 1
92090690122. 2
92090690123. 3
92090690124. 4

Question Number : 32 Question Id : 92090622804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Dharmachakrapravartan refers to which of the following episode in the
life of Buddha?

1. Enlightenment
2, Mahaparinirvana
3. Birth

4. First Sermon

Options :
92090690125. 1



92090690126. 2
92090690127. 3
92090690128. 4

Question Number : 32 Question Id : 92090622804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

92 & oilgd & [ 0 &y geid & a1y efasuiad- &1 ddy g2

(1) §Heg (2) HemRMAaf
(3) oW (4) WUH AR
Options :

92090690125. 1
92090690126. 2
92090690127. 3
92090690128. 4

Question Number : 33 Question Id : 92090622805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which of the following caves of Ajanta is the famous painting of
Bodhisattva Padmapani?

1. Cave 1
2. Cave 3
3. Caved
4. Cave T
Options :
92090690129. 1
92090690130. 2

92090690131. 3
92090690132. 4

Question Number : 33 Question Id : 92090622805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o1 Bt A B F S el # Sifgwa ueHuin o1 uiis i 82

(1) %11 (2) TW®I3
(3) B4 @) T®17
Options :

92090690129. 1
92090690130. 2
92090690131. 3
92090690132. 4

Question Number : 34 Question Id : 92090622806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bharat Mata Painting of the Bengal School is done by which one of the
following artists:

1. Gaganendranath Tagore
2. Abanindranath Tagore
3. Rabindranath Tagore

4. Nandalal Bose

Options :

92090690133. 1
92090690134. 2
92090690135. 3
92090690136. 4

Question Number : 34 Question Id : 92090622806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d1Td ¥ d ®) YR Ardl o B 3 9 few REeR gr a9E 1 82

(1)  TRHgAY (2) SaEfEAY SR
(3) gAYy TR 4) dcaaeEd
Options :

92090690133. 1
92090690134. 2
92090690135. 3



92090690136. 4

Question Number : 35 Question Id : 92090622807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following was not a member of Bombay Progressive
Artists Group?

1. FN Souza

2. M F Hussain
3. 5 H Raza

4. Akbar Padamsee

Options :

92090690137. 1
92090690138. 2
92090690139. 3
92090690140. 4

Question Number : 35 Question Id : 92090622807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 # O 3 diE wfoefia e g &1 9aw =18 un

(1) BT el (2) UHU®. 44
(3) UHUTE W (4) e ygHt
Options :

92090690137. 1
92090690138. 2
92090690139. 3
92090690140. 4

Question Number : 36 Question Id : 92090622808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Astamahapratiharyva Seulpture is one of the popular themes in which of
the following periods:

1. Kushana

2. Gupta

3. Satavahana

4. Pala
Options :
92090690141. 1
92090690142. 2

92090690143. 3
92090690144. 4

Question Number : 36 Question Id : 92090622808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sedgfaerd 7fd Fm # ¥ 59 1 & uRie fava-axgsi 4 9 0 §7

(1)  PAHA (2) T«
(3)  dHiddled (4) Hid
Options :

92090690141. 1
92090690142. 2
92090690143. 3
92090690144. 4

Question Number : 37 Question Id : 92090622809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The great relief of Mahabalipuram is famous for which of the Pauranie
stories:

1. Vishvarupa Vishnu
2. Gangaavataran / Kirata Arjuneya
3. Maha Raas

4. Andhakasuravadhamurti

Options :
92090690145. 1



92090690146. 2
92090690147. 3
92090690148. 4

Question Number : 37 Question Id : 92090622809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frfafad @ 9 o dRiftre syel & o Aeradiyqes #1 9t A ude uiig 22

(1) fasRey fawg (2) TITERU/B R S
(3) HERW @)  SfuPrgEY
Options :

92090690145. 1
92090690146. 2
92090690147. 3
92090690148. 4

Question Number : 38 Question Id : 92090622810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following art historian has proposed short chronology of the
Mahavana Phase of Ajanta

1. V V Mirashi

2. Walter Spink

3. Johanna Williams

4. M N Deshpande

Options :

92090690149. 1
92090690150. 2
92090690151. 3
92090690152. 4

Question Number : 38 Question Id : 92090622810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



F=fafET o 3 fied oo siderafde/afiemeR A sl &1 g/ Uawl 1 7Y Srabd
ydIae foean g2

(1) a4 wiweh (2) dleed A&
(3)  wiler faferarg (4) THTUA YIS
Options :

92090690149. 1
92090690150. 2
92090690151. 3
92090690152. 4

Question Number : 39 Question Id : 92090622811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kailashnath Temple at Ellora was patronised by which of the following
dynasty:

1. Vakataka
2. Chalukya
3. Rashtrakuta
4. Yadavas

Options :

92090690153. 1
92090690154. 2
92090690155. 3
92090690156. 4

Question Number : 39 Question Id : 92090622811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafarad § 9 oy 39 & §R1 UaRT & oy \ie &1 & f&ar T U

(1) dBIEH (2) i
(3} RALTE: Tl (4) dlad
Options :

92090690153. 1
92090690154. 2



92090690155. 3
92090690156. 4

Question Number : 40 Question Id : 92090622812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Erotic sculptures on temple walls are found in which of the following
temples:

1. Parvati Temple, Nachna Kuthara
2. Dasavatara Temple, Deogarh
3. Sun Temple, Konark

4. Pandrethan Temple, Kashmir

Options :

92090690157. 1
92090690158. 2
92090690159. 3
92090690160. 4

Question Number : 40 Question Id : 92090622812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFr=fafaa # 9 fog At 31 dari w v il 5+ g8 8

(1) Urddl HieR, 9 AR (2) TENEAR HigT, <a7g
(3) gdHfR Homh (4) Uiy AR, IR
Options :

92090690157. 1
92090690158. 2
92090690159. 3
92090690160. 4

Question Number : 41 Question Id : 92090622813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sadashiva Image of Shiva 1s found at which of the following temple sites:
1. Khajuraho
2. Konark
3. Kanchipuram

4. Pattadakal

Options :

92090690161. 1
92090690162. 2
92090690163. 3
92090690164. 4

Question Number : 41 Question Id : 92090622813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o 9 forw wifer e W a1 weifa ufaw safeyd g2

(1)  HeRmEl (2) HIND
(3) HEYH 4) Uciswmdl
Options :

92090690161. 1
92090690162. 2
92090690163. 3
92090690164. 4

Question Number : 42 Question Id : 92090622814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Impression Sunrise is a painting done by which one of the following
artists:

1. Claude Monet
2. Auguste Henoir
3. Edgar Degas

4. Mary Cassatt

Options :



92090690165. 1
92090690166. 2
92090690167. 3
92090690168. 4

Question Number : 42 Question Id : 92090622814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 7 9 fohe R a1 SHIRE SRS Ui €918 7S &7

(1) odle JF (2)  3HIRe AR
(3) TR @) WourE
Options :

92090690165. 1
92090690166. 2
92090690167. 3
92090690168. 4

Question Number : 43 Question Id : 92090622815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lascaux 1s famous for which period of paintings:
1. Classical
2. Hellenistic
3. Archimedean

4. Pre-Historical

Options :

92090690169. 1
92090690170. 2
92090690171. 3
92090690172. 4

Question Number : 43 Question Id : 92090622815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



! 6y F1a &1 s’ & o uftg &2

(1)  FSd (2) goRe®
(3) anfdHifsTa (4) WEA-3fae™
Options :

92090690169. 1
92090690170. 2
92090690171. 3
92090690172. 4

Question Number : 44 Question Id : 92090622816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Bhimbhetka Caves are known for:
1. Wall Paintings of old stone Period
2. Wall Paintings of Mesolithie Period
3. Wall Paintings of Chaleolithic Period

4. Wall Paintings of Jorwe Culture Period

Options :

92090690173. 1
92090690174. 2
92090690175. 3
92090690176. 4

Question Number : 44 Question Id : 92090622816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
igares e FE T @ fFad fow 9 ord 82

(1) gd uTsTor dTdl § dlaRl R & st
(2) WU $Td J SlaR! W) & REdan
(3) IR IR & auRaRgiE REdang
(4) EORI R & TEpla g B REean

Options :



92090690173. 1
92090690174. 2
92090690175. 3
92090690176. 4

Question Number : 45 Question Id : 92090622817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Pragyaparamita Sutra Paintings are prepared on which one of the
following material:
1. Palm Leaf
2. Silk Cloth
3. Paper

4. Leather

Options :

92090690177. 1
92090690178. 2
92090690179. 3
92090690180. 4

Question Number : 45 Question Id : 92090622817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRR G FeEdand A= 7 9 iy e o 94918 95t 82

(1) dIisuA 2) Fied &1 FUE
(3) I (4) dHS
Options :

92090690177. 1
92090690178. 2
92090690179. 3
92090690180. 4

Question Number : 46 Question Id : 92090622818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Kalakacharya katha is attached to which of the following manuscripts:
1. Pragvaparamita Sutra
2. Dharani Sutra
3. Kalpasutra

4. Sravakapratikramasutra-curni of Vijavasimha

Options :

92090690181. 1
92090690182. 2
92090690183. 3
92090690184. 4

Question Number : 46 Question Id : 92090622818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hehra AHE Syl FEfaiEd § 9 ey uighalt 9 defa g7

(1) VST O (2) YRU g
(3) P (4) TacraRneg o1 Sdaurdishrgd -Hoif

Options :

92090690181. 1
92090690182. 2
92090690183. 3
92090690184. 4

Question Number : 47 Question Id : 92090622819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Chaurpanchasika paintings are found in which of the following areas:
1. Madhya Pradesh
2. Deccan
3. Bengal

4. Rajasthan

Options :



92090690185. 1
92090690186. 2
92090690187. 3
92090690188. 4

Question Number : 47 Question Id : 92090622819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrfafed & 9 frg & o SR 7 g s 82

(1) HHUSY (2) CdDp
(3) &d 4) TSR
Options :

92090690185. 1
92090690186. 2
92090690187. 3
92090690188. 4

Question Number : 48 Question Id : 92090622820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one of the following iz a Book of Recipe
1. Babarnama
2. Nimatnama
3. Hamzanama

4. Akbarnama

Options :

92090690189. 1
92090690190. 2
92090690191. 3
92090690192. 4

Question Number : 48 Question Id : 92090622820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FfoRad 4 9 & 9 as urslal $1 82

(1)  SISEAH (2) FAaam
(3) BRATMHI (4) AP
Options :

92090690189. 1
92090690190. 2
92090690191. 3
92090690192. 4

Question Number : 49 Question Id : 92090622821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Sahibdin has not painted which one of the following:
1. Ragamala
2. Rasikapriya
3. Bhagvata Purana
4. Sursagar
Options :
92090690193. 1
92090690194. 2

92090690195. 3
92090690196. 4

Question Number : 49 Question Id : 92090622821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafad & 4«19 9 fa aifted= grr <1 83 761 @7

(1) I 2) YHsitEr
(3)  HITE R0 (4) YR
Options :

92090690193. 1
92090690194. 2
92090690195. 3



92090690196. 4

Question Number : 50 Question Id : 92090622822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Artist Bihzad finds mention in which of the following manuseript
paintings:
1. Babarnama
2. Akbarnama
3. Jahangirnama
4. Padshahnama
Options :
92090690197. 1
92090690198. 2

92090690199. 3
92090690200. 4

Question Number : 50 Question Id : 92090622822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFr=rfofad | ¥ fow afem uigfoltdl & Reer Nk @1 3w favar mn g2

(1) EICEGIE (2) HP&EIATH
(3)  SIgNiRATH (4) UICEITGATH
Options :

92090690197. 1
92090690198. 2
92090690199. 3
92090690200. 4

Question Number : 51 Question Id : 92090622823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Famous painter of Jahangir's reign, Aga Riza was from:
1. Turkey
2. Iran
3. Italy

4. France

Options :

92090690201. 1
92090690202. 2
92090690203. 3
92090690204. 4

Question Number : 51 Question Id : 92090622823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SENR & A &1 Uit fEeR ane e iy w3 d@&fia ar?

(1) gl (2) A
(3) gedl (4) TBIg

Options :

92090690201. 1
92090690202. 2
92090690203. 3
92090690204. 4

Question Number : 52 Question Id : 92090622824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Dara Shikoh, apart from Sufi Mysticiem, wag interested in which school of
thought:

1. Madhyamika

2. Jain

3. Vedantic

4. Nyaya Vaizseshik
Options :

92090690205. 1
92090690206. 2



92090690207. 3
92090690208. 4

Question Number : 52 Question Id : 92090622824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wi TEwdlg & Sifaiad Sik fed 0d & Rigrdl # gri fRrerg o1 $ha diz

(1)  HEHDT 2) oH
(3) darf® (4) =g aRMWEH
Options :

92090690205. 1
92090690206. 2
92090690207. 3
92090690208. 4

Question Number : 53 Question Id : 92090622825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following Deccan King was the author of Nauras-nama
illustrated manuscript:

1. Adil Shah I

2. Ibrahim Il
3. Adil Shah II
4. Muhammad Quli Quth Shah

Options :

92090690209. 1
92090690210. 2
92090690211. 3
92090690212. 4

Question Number : 53 Question Id : 92090622825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frfafad A ¥ Sae &1 S 91 [T ARG-AH1, 9 uighaft &1 aas un

(1) Sffcd e | (2) gsnfgH Il
(3) e TRl (4) HIEHS Pl pad e
Options :

92090690209. 1
92090690210. 2
92090690211. 3
92090690212. 4

Question Number : 54 Question Id : 92090622826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nihal Chand worked in the court of which of the following Rajput King:
1. Sawant Singh
2. Anup Singh
3. Hao Bika Rathore

4. Maharana Jagat Singh

Options :

92090690213. 1
92090690214. 2
92090690215. 3
92090690216. 4

Question Number : 54 Question Id : 92090622826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frfafad 7 @ by Iergd e & war # Ferde 3 s faan

(1) Hdd g (2) SFU g
(3) V4w uds @) HERIN & Rig
Options :

92090690213. 1
92090690214. 2
92090690215. 3
92090690216. 4



Question Number : 55 Question Id : 92090622827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Betel wings are used in which of the following schools of painting:
1. Bashohli
2. Kishangarh
3. Mewar

4. Nathdwara

Options :

92090690217. 1
92090690218. 2
92090690219. 3
92090690220. 4

Question Number : 55 Question Id : 92090622827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e & fw Sl T 471 & uEl &1 Iudi favan rar €2

(1) =gt (2) frerTTg
(3) WA (4) UERI
Options :

92090690217. 1
92090690218. 2
92090690219. 3
92090690220. 4

Question Number : 56 Question Id : 92090622828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following painter is considered as the Venetian master
painter:

1. Titian

2. Rembrandt

3. Durer

4. Poussain

Options :

92090690221. 1
92090690222. 2
92090690223. 3
92090690224. 4

Question Number : 56 Question Id : 92090622828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafafad & 9 i feer &1 3FRH vy fager 19 o 82

(1) difedr 2) oS
3 T @ g
Options :

92090690221. 1
92090690222. 2
92090690223. 3
92090690224. 4

Question Number : 57 Question Id : 92090622829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Delacroix is associated with which of the following western art
movements;

1. Realism

2. Romanticism
3. Neo Classicism
4. Roccoco

Options :
92090690225. 1



92090690226. 2
92090690227. 3
92090690228. 4

Question Number : 57 Question Id : 92090622829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sarhiay, 7 H 9 forg ufded wan siidia 3 defdd g2

(1)  gurdareg (2) bedEe
(3) ¥4 guarg 4) TPl
Options :

92090690225. 1
92090690226. 2
92090690227. 3
92090690228. 4

Question Number : 58 Question Id : 92090622830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following painters belong to the Realist movement?

1. Courbet and Daumier

b

Delacroix and Turner

e

Rembrandt and Ruben

Manet and Monet

e
v

Options :

92090690229. 1
92090690230. 2
92090690231. 3
92090690232 4

Question Number : 58 Question Id : 92090622830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e 9 9 &F 91 fiEeRr gurdard sigas § Eiid g2

(1) P qul SIS (2) STy TYl e
(3) Y auT $eEA 4) HMFE U "R
Options :

92090690229. 1
92090690230. 2
92090690231. 3
92090690232. 4

Question Number : 59 Question Id : 92090622831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Dazzling effect of volume is found in the paintings and sculptures of the
following:

1. Velazquez and Jan Van Eyck
2. Giotto and Donatello
3. Michelangelo and Fra Filippo Lipi

4. Ruben and Bernini

Options :

92090690233. 1
92090690234. 2
92090690235. 3
92090690236. 4

Question Number : 59 Question Id : 92090622831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= & @ e REsanstl aur giudl § diegd (Volume) &1 IdMEIY & dral W O/l
STl 87

(1)  ddwadd aul S o4 3@ (2) O aU gHEeal

(3)  HISdHdraal gyl W fisferdl ferf (4) T& aur g

Options :

92090690233. 1
92090690234. 2



92090690235. 3
92090690236. 4

Question Number : 60 Question Id : 92090622832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Birth and Re-birth of Pictorial Space is written by:
1. E. H. Gombrich

2. Kenneth Clarke
3. John White
4. Rudolph Arnheim

Options :

92090690237. 1
92090690238. 2
92090690239. 3
92090690240. 4

Question Number : 60 Question Id : 92090622832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Birth and Re-birth of pictorial space) |y ud frgd sifp fOeeiige 9 &1 d9®
B 82

(1) 309 MES (2) HAYFAE
(3) WM @REe (4) FSIeh THeiH
Options :

92090690237. 1
92090690238. 2
92090690239. 3
92090690240. 4

Question Number : 61 Question Id : 92090622833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ur iz a famous ancient site of the following Civilization:
1. Egyptian
2. Mesopotamian
3. Syrian

4. Sumerian

Options :

92090690241. 1
92090690242. 2
92090690243. 3
92090690244. 4

Question Number : 61 Question Id : 92090622833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IY (U &g Tvaar &1 ufirg U we 22

(1) gfoe/ay (2) AECEE
(3)  Hia @) R
Options :

92090690241. 1
92090690242. 2
92090690243. 3
92090690244. 4

Question Number : 62 Question Id : 92090622834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tomb of Nefertiti is in the following country:
1. Egvpt
Sudan

]

3. Ethiopia
4. Syria
Options :

92090690245. 1
92090690246. 2



92090690247. 3
92090690248. 4

Question Number : 62 Question Id : 92090622834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Athefafd &1 Apa g ew | 82

(ny e 2 YsH
3) siugiiu (4) Hifwar
Options :

92090690245. 1
92090690246. 2
92090690247. 3
92090690248. 4

Question Number : 63 Question Id : 92090622835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When was the Greek temple Parthenon constructed?
1. 6% Century BC
2. 4th Century BC
3. 3 Century BC

4. 5 century BC

Options :

92090690249. 1
92090690250. 2
92090690251. 3
92090690252. 4

Question Number : 63 Question Id : 92090622835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hie Hfer, WdHH (Parthenon) &1 R0 &d a1 UT?

(1) ©ol a3y 2 Tfiwasdsy
(3) s e S, (4) Uied Frared £,
Options :

92090690249. 1
92090690250. 2
92090690251. 3
92090690252. 4

Question Number : 64 Question Id : 92090622836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Laocoon and His Two Sons is a sculpture that belongs to
1. Archaic Style
2. Classical Style
3. Myvenaeun Style

4. Hellenistic Style

Options :

92090690253. 1
92090690254. 2
92090690255. 3
92090690256. 4

Question Number : 64 Question Id : 92090622836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TH U1 I9F &l 3 AHE gi el dditd g2

(1) 3RfEuE qat (2) aETHEd el
(3) AT e (4) BARRes I
Options :

92090690253. 1
92090690254. 2
92090690255. 3



92090690256. 4

Question Number : 65 Question Id : 92090622837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Justinian was responsible for the development of
1. Byzantine Art
2. Gothie Art
3. Renaissance Art

4. Greek Art

Options :

92090690257. 1
92090690258. 2
92090690259. 3
92090690260. 4

Question Number : 65 Question Id : 92090622837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= # ¥ fPud AP & forg oiEdiiaa Iaverdt ur

(1) EgoE &l (2) TiY® Har
(3) USROSl 4) Ui FHar
Options :

92090690257 1
92090690258. 2
92090690259. 3
92090690260. 4

Question Number : 66 Question Id : 92090622838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Donatello was famous for which one of the following:
1. Painting
2. Architecture
3. Sculpture

4. Print Making

Options :

92090690261. 1
92090690262. 2
92090690263. 3
92090690264. 4

Question Number : 66 Question Id : 92090622838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sHTeT A= 4 9 faees foe uidg 92

(1) e (2) ATl
3) Hiida (4) BT Dl
Options :

92090690261. 1
92090690262. 2
92090690263. 3
92090690264. 4

Question Number : 67 Question Id : 92090622839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sandro Botticelli belonged to which of the following period
1. Fourteenth Century
2. Fifteenth Century
3. Sixteenth Century
4. Seventeenth Century
Options :
92090690265. 1

92090690266. 2
92090690267. 3



92090690268. 4

Question Number : 67 Question Id : 92090622839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 1 8 oy #1a & W1y 3= difeadl &1 96y 82

(1) dregdl (2) Usedl Sdrsgt
(3)  Hicigdl Ydrsdl (4) Y=gl Ydrsdl
Options :

92090690265. 1
92090690266. 2
92090690267. 3
92090690268. 4

Question Number : 68 Question Id : 92090622840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Last Supper of Leonardo da Vinei was painted in which city of ltaly:

1. Milan
2. Venice
3. Home
4. Florence

Options :

92090690269. 1

92090690270. 2

92090690271. 3
92090690272. 4

Question Number : 68 Question Id : 92090622840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fergret 21 fafe 1 o are IR, seell & fohg W | &18 118 i

(1y fEm= (2) afF=
3) IH @) TN



Options :

92090690269. 1
92090690270. 2
92090690271. 3
92090690272. 4

Question Number : 69 Question Id : 92090622841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the sculptor of the famous bronze sculpture titled The Thinker
1. Winslow Homer
2. Alexander Graham
3. Henri de Toulouse-Lautrec

4. Auguste Hodin

Options :

92090690273. 1
92090690274. 2
92090690275. 3
92090690276. 4

Question Number : 69 Question Id : 92090622841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

< fie e uitg o 9fd &1 gfdeR #1182

(1) fEEd e (2) USSR UgH
3) RIS aFay - ded (4) 3T i
Options :

92090690273. 1
92090690274. 2
92090690275. 3
92090690276. 4

Question Number : 70 Question Id : 92090622842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Post- Impressionist painter who went to Tahiti Island is:

1. Georges Seurat
2. Paul Cézanne
3. Paul Gauguin
4. Gustave Moreau

Options :

92090690277. 1

92090690278. 2

92090690279. 3
92090690280. 4

Question Number : 70 Question Id : 92090622842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

difgdt gy o SR are STR-UHIEae] RESR $1H 87

1y Fsm (2) Ofe el
(3)  HiaTm (4) TRTE TR
Options :

92090690277. 1
92090690278. 2
92090690279. 3
92090690280. 4

Question Number : 71 Question Id : 92090622843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The famous museum in the Europe, the Louvre is located in which
country:
1. England
2. France
3. Germany
4. Poland

Options :
92090690281. 1



92090690282. 2
92090690283. 3
92090690284. 4

Question Number : 71 Question Id : 92090622843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR &1 UTs SUeTad o fa Su A fRm &

(1) Fde 2) Wi
(3) A @) dcis
Options :

92090690281. 1
92090690282. 2
92090690283. 3
92090690284. 4

Question Number : 72 Question Id : 92090622844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The famous Egyptian Sculpture Nephrite is housed in a museum located
in:

1. London

ko

Paris
3. Berlin

4. Zurich

Options :

92090690285. 1
92090690286. 2
92090690287. 3
92090690288. 4

Question Number : 72 Question Id : 92090622844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fira 1 ufdg 1 g forg 3w & dugred # 7@ T @2

(1) ded 2) o=
3y d&feH 4) wRkE
Options :

92090690285. 1
92090690286. 2
92090690287. 3
92090690288. 4

Question Number : 73 Question Id : 92090622845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Les Demoiselles d'Avignon is painted by which painter
1. Georges Braque
2. Juan Gris
3. Ferdinand Leger

4. Pablo Picasso

Options :

92090690289. 1
92090690290. 2
92090690291. 3
92090690292. 4

Question Number : 73 Question Id : 92090622845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o eHIEE af{ﬁ":ﬁ:[ (Les Demaiselles d' Avignon) &I [EECALEG! %‘?

(1) Sl g (2) s R
(3) WigAs AR @) urge o
Options :

92090690289. 1
92090690290. 2
92090690291. 3



92090690292 4

Question Number : 74 Question Id : 92090622846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Bridge (Die Briicke) group of artists belong to which art movement:
1. Fauviam
2. Cubism
3. Expressionism

4. Neo Impressionism

Options :

92090690293. 1
92090690294. 2
92090690295. 3
92090690296. 4

Question Number : 74 Question Id : 92090622846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SRl &1 94E 2 f69’ (Die Brucke) fd &ell siigia ¥ ddftid g2

(1) ThIfdeH 2) wfEeH
(3)  SHiHSHdG (4) 19 YHIEdrg

Options :

92090690293. 1
92090690294. 2
92090690295. 3
92090690296. 4

Question Number : 75 Question Id : 92090622847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Artist who was in charge of illustrating the pages of Constitution of India:
1. Nandalal Bose
2. Jamini Roy
3. Abanindranath Tagore

4. Binod Bihari Mukherjee

Options :

92090690297 1
92090690298. 2
92090690299. 3
92090690300. 4

Question Number : 75 Question Id : 92090622847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRd & Hiau™ & 98] R =0 $34 aret uHRl RIS R &1 4 31 417

(1) ieda &8 (2) I 3G
(3) @G 2R 4) fodg fasrt gasil
Options :

92090690297. 1
92090690298. 2
92090690299. 3
92090690300. 4

Question Number : 76 Question Id : 92090622848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one iz not a UNESCO world Heritage Site

=

. Taj Mahal
2. Humayun's Tomb
3. Fatehpur Sikri

4. Bibi ka Magbara
Options :
92090690301. 1

92090690302. 2
92090690303. 3



92090690304. 4

Question Number : 76 Question Id : 92090622848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o 7§ & A1 R T gR1 URdTfad 3y & eRTeR vl o nfid el 82

(1) dreegd (2) THY B HHaRI
(3) WdsqR HiEd (4) el &1 HHE
Options :

92090690301. 1
92090690302. 2
92090690303. 3
92090690304. 4

Question Number : 77 Question Id : 92090622849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(iiven below are two statements: one is labelled as Assertion A and the
other is labelled as Reason R

Assertion A: Shiva Linga located in Ghrushneshwara Temple near
Ellora caves is called as Jvotirlinga

Reason R: According to the Puranic Mythology it is said that the
Shiva Linga is svayambhu (self manifested)

In the light of the above statements, choose the most appropriate
answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

b

Both A and R are correct but R is NOT the correct explanation of A

3. Aiscorrect but R is not correct
4. A is not correct but R is correct
Options :

92090690305. 1
92090690306. 2
92090690307. 3
92090690308. 4

Question Number : 77 Question Id : 92090622849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

#1a g1 HuA 3T MU & U HHFHYA (Assertion A) B FY  H fafed @ O g1 39S RO
(Reason R}%W H

HHBYT A : TR B TH & U gOsR i # =1fta Rafdr & waifaiki s
Sl B

BRUIR: GRIMOT YME & SHR 08 @l Wil ¢ & Rafed @y (W9d 399) €
IR S & 3fTdies |, T fau mu faewedl § 9 981 3w &1 994 S

(1) ASRRIFTTAE IR R, A DI Hel AR ©

(2) ASIRREH 9§ W= R, A $ Ugl ARAT 61 ¢
(3) ATUE WR TS

(4) ANTIE ABIRIT R

Options :

92090690305. 1
92090690306. 2
92090690307. 3
92090690308. 4

Question Number : 78 Question Id : 92090622850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Giiven below are two statements: one is labelled as Assertion A and the
other iz labelled as Reason R

Assertion A: Noor Jahan was responsible for developing new aesthetic
trend in Mughal architecture.

Reason R: As the principal gueen of Jahangir, she had all the wealth to
patronise artists.

In the light of the above statements, choose the most appropriate answer
from the options given below

1. Both A and R are correct and R is the correct explanation of A

ba

Both A and R are correct but R is NOT the correct explanation of A

3. A iscorrect but R is not correct
4. A i= not correct but R i= correct
Options :

92090690309. 1



92090690310. 2
92090690311. 3
92090690312. 4

Question Number : 78 Question Id : 92090622850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H2 &1 Sy 3T MU §: UF SHPUF (Assertion A) & ¥U H foigd € ol THI ITS FRU
(Reason R}%F‘Iﬂ;

AU A - WIS IRgH e H T Higdfawas ugha uReH $4 arell IRerel 411

PRUIR : SEIIR & T=H I 811 & SR 39 U REFGRI 1 Uidiigd 33 & o
&I G T

IS Y & i H, Fl1 G0 [l § 9 ¥g! I &1 994 Hiforg

(1) ASMRREHATHE AR R, A P e| ARS8

(2) ASRRIH YT E, W R, A DI 9l ARA el &
(3) AYIE WRgRITTE

(4) ASUIE AMBIRITE

Options :

92090690309. 1
92090690310. 2
92090690311. 3
92090690312. 4

Question Number : 79 Question Id : 92090622851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the
other is labelled as Reason R

Assertion A: Brihadeshwara Temple, Tanjavur is one of the masterpieces
of Indian temple architecture in Dravidian Style

Reason R: Because it was patronised by the Pallava dynasty of
Tamilnadu.

In the light of the above statements, choose the most apprepriate answer
from the options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A

3 A is correct but R is not correct
4. A 15 not correct but R 18 correct
Options :

92090690313. 1
92090690314. 2
92090690315. 3
92090690316. 4

Question Number : 79 Question Id : 92090622851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 41 ®Y AU T §: U SHHPSUF (Assertion A) & TU H foifdd § ol TEI IUd BRI
(Reason R}gﬁmﬂ;

IHHBHYTA : TR & geaiR Hidy, sfde el 6 uRdig #ifR aRgear &1 &
DISEAR ]

PRUR : i U] AfHTg & Uowid d27 T TIA0T T o7

IR FYF & 3Meid d, 914 U U fgeedl 7 § Uel 3R &1 9494 Sifre

(1) AMRRIHTHE 3R R, A DI gl UGS &

2) ASIRREF 9UE W=R A ] Fel AR 81 §

3) AYME R AIT

(4) ASHTE APTRIAE

Options :
92090690313. 1
92090690314. 2



92090690315. 3
92090690316. 4

Question Number : 80 Question Id : 92090622852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements: one is labelled as Assertion A and the
other is labelled az Reason R

Assertion A: Revivalism was in response to the opposition to the
academic European realiam.

Reazon R: The revival movement was oputcome of Industrialisation in
India.

In the light of the above statements, choose the most appropriate
answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

b

Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct
4

. A is not correct but R is correct

Options :

92090690317. 1
92090690318. 2
92090690319. 3
92090690320. 4

Question Number : 80 Question Id : 92090622852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AR A RUmE:

S | ; [ASTRUENRE, g & Afde gurdar & a0y & yrRey gail

&Y || ; YAuiiaA Sigiad, HRd 7 fieiiieur &1 gRoms 1|

U Y & 3M1die H, A U T fdwedl # ¥ 9ad Sugw IR B 99T Hifoy

(1) BRI R
(2) YT SR I SH T 8
(3) @Y HE B, Al Y 1 a8
(4) HYFI T g, Afh B 1 T8 8§

Options :

92090690317. 1
92090690318. 2
92090690319. 3
92090690320. 4

Question Number : 81 Question Id : 92090622853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements: one is labelled as Assertion A and the
other is labelled as Reason R

Assertion A: Vincent Van Gogh was known as post-Impressionist
painter who had to go to Asylum due to his mental health.

Reason R: His brother Theo found his mental health disturbing.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both A and R are correct and R 15 the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A

A is correct but R is not correct

e W

A 15 not correct but R 1s correct

Options :

92090690321. 1
92090690322. 2
92090690323. 3
92090690324. 4



Question Number : 81 Question Id : 92090622853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R SIsyERumue:

Y| - [&Fe 9F T B UH IW-UHEdrel EeR & U § o1 od 8 B 3ud
RIS Wy & R0 URTaEH J S 98T 4T

YT IS HTs [ A IYH HFRIS FU F G |
JUER HYF P el H, A9 U M0 fdemadl § 9 9ad Iugdd 3o &1 9949 ifo

(1) YA RIS wE R
(2) YA SR I EH TTEd §
(3) @YFIHElg, AlbA YA TTad &
(4) YA | TTAd §, e YA 1| WEl 8

Options :

92090690321. 1
92090690322. 2
92090690323. 3
92090690324. 4

Question Number : 82 Question Id : 92090622854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(Given below are two statements: one is labelled as Assertion A and the
other iz labelled as Reason R

Assertion A: Company Painting iz an amalgamation of stylisation of
miniature painting with that of European Realism.

Reason R: East India Company was the only patron for the Company
style of painting.

In the light of the above statements, choose the most appropriate answer
from the options given below

1. Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R is NOT the correct explanation of A

A is correct but R is not correct

-

A is not correct but R is correct



Options :

92090690325. 1
92090690326. 2
92090690327. 3
92090690328. 4

Question Number : 82 Question Id : 92090622854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A pyfRumu §:

HYA | ;. DU R, aY s td g gyrdare $ et &1 e iy 8|
HYA || : HU B Rl el B WG Fad S 31591 S & urg Ul
IWRIEd FY F 3fTdls H, A9 fu T fawedl § 9 998 Iuged 3 &1 984 S

(1) By R NS EE R
2 YA SR IEH AT §
(3) HUAI el g, Al DU I T &
(4) ®YFI T g, Al DU |1 el 8

Options :

92090690325. 1
92090690326. 2
92090690327. 3
92090690328. 4

Question Number : 83 Question Id : 92090622855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(GGiven below are two statements: one is labelled as Assertion A and the
other is labelled as Reason R

Assertion A: Wash technique gives painting a spiritual appearance.

Reason R: Japanese artists playved an important role in the development
of wash technique in India.

In the light of the above statements, choose the most appropriate answer
from the options given below

1. Both A and R are correct and R is the correct explanation of A

]

Both A and R are correct but R is NOT the correct explanation of A

A is correct but R iz not correct

e g

. A is not correct but R is correct

Options :

92090690329. 1
92090690330. 2
92090690331. 3
92090690332. 4

Question Number : 83 Question Id : 92090622855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 d Py R e g

HYA | A1 AP, RIFG 31 U Nuifdid ST Sarg |

HYF Il - HRd H 919 dd-ile & fasr H SE & fREaeRi A ugE yiie Ry |
IR By F 3Mdlied 7, 13 U MU fabedl § § 999 Iugad Ik &1 9494 SIS
(1) YR NI AR

(2) YA SR 1 EH T 8

(3) HYA |9 ¢, dfch YA 11 Teid &
(4) HYF 704 g, AP HYA 1| Gel &

Options :

92090690329. 1
92090690330. 2
92090690331. 3
92090690332. 4



Question Number : 84 Question Id : 92090622856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one ig labelled as Assertion A and the
other is labelled as Reason R

Assertion A: Indus Valley Civilization had trade connection with
Mesopotamia.

Reason R: Certain trading objects are found between both the cultures.

In the light of the above statements, choose the most appropriate answer
from the options given below

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct
4. A is not correct but R is correct
Options :
92090690333. 1
92090690334. 2

92090690335. 3
92090690336. 4

Question Number : 84 Question Id : 92090622856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ElE I EAIE AT

HYF | : R a1 S & ey & Wy e day 4|

&Y || : SF SEpadl | oo AR § Yaftg gl fird 81

SRITd $Y9 & 3eiid d, A1 fou e fasel § 9 ¥ed Iuged I &1 994 Sifon
(1) &Y R I EA Tal 8

(2) @Y1 R I GH Ted §

(3) YT | HEl g, b1 HYA 11 TTad &
(4) HYFITTd g, Afe Y1 Tl 8§

Options :

92090690333. 1
92090690334. 2
92090690335. 3



92090690336. 4

Question Number : 85 Question Id : 92090622857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the
other is labelled as Reason R

Assertion A: Ashokan inscriptions could be deciphered because of its
bilingual nature.

Reason R: Ashokan inscriptions are found in India as well as in
Afghanistan.

In the light of the above statements, choose the most appropriate answer
trom the options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct
4

. A is not correct but R is correct

Options :

92090690337. 1
92090690338. 2
92090690339. 3
92090690340. 4

Question Number : 85 Question Id : 92090622857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 & Py Ry M @

S| IS P Rarerdl B G upid 817 & SR IS 3 FAdTar o 9|
FUA Il : 3D F RIATE HRA qUT HHIRAH, 21 o1t 7 e E

QRN HYH & 3 H, A1 fGu e fawedl # § a8 Iuge IR &1 9949 Sifon

(1) By 3RS wE
(2) YIS I EAT A §
(3) YA YE g, dich DU 1l A B
(4) HYFITED §, AP FY 11 TE 8



Options :

92090690337. 1
92090690338. 2
92090690339. 3
92090690340. 4

Question Number : 86 Question Id : 92090622858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the
other is labelled as Reason R

Assertion A: Varaha incarnation of Vishnu is represented in both
anthropomorphic and zoomorphic forms.

Reason R: The anthropomorphic form of Varah is found in Udayvagiri
and Zoomorphic form is found in Eran.

In the light of the above statements, choose the most appropriate answer
from the options given below

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct

4. A iz not correct but R is correct

Options :

92090690341. 1
92090690342. 2
92090690343. 3
92090690344. 4

Question Number : 86 Question Id : 92090622858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TRa sy RumuE

HYF| ;. AW & INE GAR & AFGEU 9dl UIEd, gF 8 wul ° ueRid
EIGI

HUF Il :  ARIE B HHETEY ARl § gyl uxRed WA e g1
TRIFd FYH & 3faid H, 19 feu e fasedl 1 ¥ 98l 3w &1 994 Piforw

(1) YIRS TAE
(2) YT 3R 11 ST ST B
(3) HUFI U T, AP YA 1| IWA B
(4)  PYT| A g, Al HUT 1 A &

Options :

92090690341. 1
92090690342. 2
92090690343. 3
92090690344. 4

Question Number : 87 Question Id : 92090622859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the
other iz labelled as Reason R

Assertion A: Sirpur is located in Chhattisgarh and is known for religious
establishments.

Reason R: Only the Buddhist and .Jain monastic establishments and
shrines are found at Sirpur.

In the light of the above statements, choose the most appropriate answer
from the options given below

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct

4. A is not correct but R is correct

Options :

92090690345. 1
92090690346. 2
92090690347. 3



92090690348. 4

Question Number : 87 Question Id : 92090622859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 4 HuA RU TN € U@ SfEYA (Assertion A) & ¥U  H fafEad 8 O g 39F HRUI
{Reason R}a‘?m ﬁ,‘

i@y A - RRQR, oaae o Ryd § aul g8 uifife ufass=i & forg s S g |
HRUIR : RR 7 $ad alg a1 99 78 Ud dd e g e §
JURIF Y & 3iTares |, 19 f3u U fGwel 7 9 98l I &1 999 i

(1) ASRRIAHHE 3R R, A DI Ul A=A

(2) ASRRIFTTE WgR APl Uel AA T8l ¢
(3) AYTE WRGRIMIAS

4) A3UIE AfFIRUAR

Options :

92090690345. 1
92090690346. 2
92090690347. 3
92090690348. 4

Question Number : 88 Question Id : 92090622860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(iiven below are two statements:

Statement 1: Gothic Churches are illuminated by stained glass windows

Statement II: Stained glass windows have glass paintings and are
adorned on the circumambulation

In the light of the above statements, choose the most appropriate answer
from the options given below

1. Both Statement | and Statement 1l are correct

2. Both Statement | and Statement I are incorrect
3. BStatement I is correct but Statement II is incorrect
4. Statement | is incorrect but Statement 1l is correct

Options :



92090690349. 1
92090690350. 2
92090690351. 3
92090690352. 4

Question Number : 88 Question Id : 92090622860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRaFERTmEe
FYA| - TP PR &1 314 & 31 RasiEal g udig g a8

YA 1. T S arel esfEal & il w e &1 78 g1d @ ay1 399 ufisH uy W)
Hage $i Al gl

JURIE FYF & 3Maied H, 414 U 70 fawel 7 9 96y Iuge IR &1 9949 Hifo

(1) SR NSA TE 8
(2)  HYF| 3R 1 e 8
(3) Y| R B, ABA HYH I AT §
(@) HYFITAd §, A HYF 11 TS 8

Options :

92090690349. 1
92090690350. 2
92090690351. 3
92090690352. 4

Question Number : 89 Question Id : 92090622861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements:
Statement 1:  Ellora sculptures show eclectic styles in their executions.

Statement 1I: The Hashtrakuta dynasty had wars with other ruling
dynasties and as the part of their victory they employed
artisan guilds to work on their monument like Kailashnath
Temple Ellora.

In the light of the above statements, choose the most appropriate answer

from the options given below

1. Both Statement | and Statement Il are correct

2. Both Statement [ and Statement 11 are incorrect

3. Statement | is correct but Statement 11 is ineorrect

4. Statement | is incorrect but Statement 1l is correct
Options :

92090690353. 1
92090690354. 2
92090690355. 3
92090690356. 4

Question Number : 89 Question Id : 92090622861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR RUME
®UF| ;TR @1 Gl orua srafaae § fafir Sferdi & aftiyu &1 g2ifd 81

DY Il :  ACDHE 99 7 3 YR 99 & Y 3-h gg s dul AU faugeasy s+
U TIR®! oIl TART &1 STy HicR IR &1 &3 & fon 379 831 & Ricusr
&1 fAge faan)

QURIER HYH & 3Meils |, A1 U e fawel # 8 9ad Iuge Ik &1 994 Sifoe

(1) B AR IIAEE R
(2)  HYA R I SHI A §
(3) YIS g, Wi HUH |l T §
(4) YT ITEd g, dfhd HUF 1| T &

Options :

92090690353. 1
92090690354. 2
92090690355. 3
92090690356. 4



Question Number : 90 Question Id : 92090622862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(iiven below are two statements:

Statement I: Impressionist artists captured the expressions in their
artworks through lines.

Statement II: Impressionist artists hardly used black colour in their art
works,

In the light of the above statements, choose the most appropriate answer

from the options given below

Both Statement I and Statement Il are correct
Both Statement 1 and Statement Il are incorrect
Statement | is correct but Statement 11 is incorreet
Statement I is incorrect but Statement 11 is correct

B b e

Options :

92090690357. 1
92090690358. 2
92090690359. 3
92090690360. 4

Question Number : 90 Question Id : 92090622862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

#13 G By fRu e B

&Y | YHTaard] REeRT A sro-l warsiadl # Yansi & wrew ¥ siftaafdd o1
HYF || - YU [RESRT A S Harsiod! # ST T 1 959 8 $H w6
I HYF F el H, 19 fau MU fawedl § 9 9a Iuged Ik &1 994 Hifoe

(1) By AR NG B

(2)  ®YF| SR IEHI T §

(3) YA TEl g, AP HY 11 TTAd &

(4) ®YF | T &, A YA || FEl 8
Options :

92090690357. 1
92090690358. 2



92090690359. 3
92090690360. 4

Question Number : 91 Question Id : 92090622863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements:

Statement I:  Expressionism became very popular and powerful art
movement in Germany.

Statement II: Expressionist two groups Die Bruck and Blue Rider were
active in Germany at Dresden and Munich.

In the light of the above statements, choose the most appropriate answer
from the options given below

1. Both Statement I and Statement [I are correct

2. Both Statement | and Statement [l are incorrect

3. BStatement | is correct but Statement 11 is incorrect

4, Statement [ is incorrect but Statement 11 is correct
Options :

92090690361. 1
92090690362. 2
92090690363. 3
92090690364. 4

Question Number : 91 Question Id : 92090622863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FRFFFRUUE
®YA | SHA H SifiededTe U dgd URig aUl e dal sficied & |

HYF I . NSNS & I WG, Die Bruck TYT Blue Rider, THAT H S aU ®fHd H
|fhd 3|

IR HYF F el 7, -1 v e fawel 7§ 9 9 Iuged I’ &1 994 S

(1) USRI T R
2) YA SR | H e §
(3) YA A g, dfch HU 11 7T §
(4) Y| TTAd §, Al $YF || el §

Options :

92090690361. 1
92090690362. 2
92090690363. 3
92090690364. 4

Question Number : 92 Question Id : 92090622864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Tantric Buddhist sculptures are widely found in Odisha

Statement 1I: Tantric Buddhist sculptures are widely found in Rajasthan

In the light of the above statements, choose the most appropriate answer
from the options given below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement 1l are incorrect

3. Statement | is correct but Statement 11 is incorrect

4. Statement | is incorrect but Statement 11 is correct
Options :

92090690365. 1
92090690366. 2
92090690367. 3
92090690368. 4

Question Number : 92 Question Id : 92090622864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A & dyA e e §:

HU | ; diE g8 & giadl AfEsa d 9gd waferd

HYH || ; diES g2 D1 gfadl Tory= # sgd v g

TR HYF & 3Tl |, 712 fau U fashed] 7 9 Hel IR &1 9 SIS

(1) HYFIRIGAI TS
(2)  BYA R I SH T &
(3) HUFI U T, ABT YA | HUA B
(4) ®YT| AT §, AP FYTN T 8

Options :

92090690365. 1
92090690366. 2
92090690367. 3
92090690368. 4

Question Number : 93 Question Id : 92090622865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Bidar in Karnataka is well known for temples during the
Sultanate period

Statement II: Bidar in Karnataka is well known for Buddhist sites during
the Sultanate period

In the light of the above statements, choose the most appropriate answer
from the options given below

1. Both Statement | and Statement Il are correct

2. Both Statement [ and Statement 11 are incorrect
3. Statement | is correct but Statement 11 is incorrect
4. Btatement | is incorrect but Statement 11 is correct

Options :

92090690369. 1
92090690370. 2
92090690371. 3
92090690372. 4



Question Number : 93 Question Id : 92090622865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A HyF RuMUE:

®YA | - DHICD H d1gR, Hoa-d HId b HiG b o1 S+ Sl 8 |
HY || : FAled § digR, YeoTd Id & alg Udl & [0 ST Sl ¢ |
IRIF HYA & 3Taie |, 9 20 0 feel # 9 981 3R &1 994 Sy
(1) BRI ATUR

(2) FYFISIRIEH SEd g

(3) HYF| I g, dfbd HUF 11 ST E
(4) HYTI| TA g, Al HUT 1 T ©

Options :

92090690369. 1
92090690370. 2
92090690371. 3
92090690372. 4

Question Number : 94 Question Id : 92090622866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

List 1 List I1

A Sanghol I. Bihar

B. Sanchi I1. Punjab

C. Jagavapetta 1. Madhya Pradesh
D. Lomas Rishi Cave IV. Andhrapradesh

(Choose the correct answer from the options given bhelow:
(1) (A)-(13, (B)-(I11). (C)-(1D), {(D)-(IV)

(2)  (A)-(D, (B)-(111), (C)-(AV), (D)-(D)

(3)  (A)-(IV), (B)-(1D), (C)-(I), (D)-(LLI)

(4) (A, (By-(1D), (C)-(11L}, (D)-(IV)

Options :



92090690373. 1
92090690374. 2
92090690375. 3
92090690376. 4

Question Number : 94 Question Id : 92090622866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T | & Ty gt 1 &1 e Hifer

- T I
(A) T ) fEER
() drdl (y UerE
(€) SIRIUEET (1) He Y
(D) HY B B BT (v) Sy uem
i feu 7o g edl 7 9 el IR 1 9 i

(1 (A=), (B)-(1), (C)-(I), (D)-(IV)
(2)  (A)-(I), (B)-(IN), (O)-(1V), (D)-(1)
(3)  (A-IV), (B)-(1), (O)-(1), (D)-(D)
(4) (A=), B)-(I), (C)-(ll), (D)-(IV)

Options :

92090690373. 1
92090690374. 2
92090690375. 3
92090690376. 4

Question Number : 95 Question Id : 92090622867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 11

List I List 11

A. Van Gogh I. Cubism

B. Picasso Il. Sistine Chapel
. Michelangelo II1. Netherland
D. Ruben IV. Starry Night

Choose the correct answer from the options given below:

(1) (A)-(D. (B)-(I1), (C)-(111). (D)-(IV)
(2) (A, (B)-(11D), (O)-(IV), (D)-(1)
(3)  (A)-(IV), (B)-{I). (C)-(11), (D)-(111)
(4)  (A)-(D. (B)-(I1D), (C)-(11). (D)-(IV)

Options :

92090690377. 1
92090690378. 2
92090690379. 3
92090690380. 4

Question Number : 95 Question Id : 92090622867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yl | & Iy gl 1| B e Hifore

Y- LG
(A) 7T (Van Gogh) () SgfEwH
(8) fowrE ay =
€ WEHASTl () eRe’s
(D) F&d (Iv) ¥R AEe

i< fau U faweul 7 9 9l IR &1 94 Hif;
(1) (A=), (B)-(I1), (C)-(I11), (D)-(IV)
(2) (A1), (B)-(HI1), (C)-(V), (D)-()
(3) (A=), (B)-(1), (C)-(11), (D)-(ll1)
(4)  (A)-0), B)-(I), (T)-(I), (D)-(1V)

Options :
92090690377. 1



92090690378. 2
92090690379. 3
92090690380. 4

Question Number : 96 Question Id : 92090622868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1

List 1 List I1

A.  Donatello I. Ecstasy of St. Teressa
B. Bernini II. Trinity

C. Massaccio [I. Olympia

D. Manet IV. Dawid

Choose the correct answer from the options given below:

(D A)-D, (B)-(IID), (C)-(II), (D)-(IV)
(2) (A1), (B)-(IID), (C)-(IV), (D)-(I)
(3)  (A)-(IV), (B)-(D), (C)-(1I), (D)-(11I)
(1) (D). B)-(ID, (C)-(D), (D)-(IV)

Options :

92090690381. 1
92090690382. 2
92090690383. 3
92090690384. 4

Question Number : 96 Question Id : 92090622868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T | & Ty g 11 F e Sifere

- gt
(A) SHEE () UeeHl it ¥
(8 ay ferd
(C) wHIE! () Sftferfem
(D) AH av) Sfas

Hta fau v faseal # 9 |l IR &1 9 Hifoi;
(1) (A, (B)-(I), (C)-(l), (D)-(IV)
(2)  (A)-(I), (B)-(I), (C)-(IV), (D)-(1)
(3)  (A)-(V), (B)-(), (C)-(I), (D)-(1)
(4) (A=), (B)-(I1), (C)-(I1N), (D)-(IV)

Options :

92090690381. 1
92090690382. 2
92090690383. 3
92090690384. 4

Question Number : 97 Question Id : 92090622869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List [ with List 11

List 1 List 11
A. Jahaz Mahal L. Daulatabad Fort
B. Chand Minar I1. Madurai
. Meenakshi Temple I11.Sarnath
D. Dhamek Stupa IV. Mandu

Choose the correct answer from the options given helow:

(1) (A)-(IV). (B)-(L), (C)-(11), (D)-(11)
(2)  {(A)-(ID, (B)-(11L), (C)-(IV), (D)-(L)
(3)  (A)-(IV), (B)-(1D), (C)-(L), (D)-(I1L)
(4)  (A)-(D, (By-(LLL), (C)-(LL), (D)-(IV)

Options :
92090690385. 1



92090690386. 2
92090690387. 3
92090690388. 4

Question Number : 97 Question Id : 92090622869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 & T gl | F1 e St

gHl-| gl I
(A) IR HEd (1) CrerdrsTe 1 fde
@) dia #HHAR () A
(€ wiEf HER iy AR
(D) i Ty (Iv) Aig

19 fau U faseul # 9 Wl I &1 IU- SIS
() A-(V), (B)-(1), (O)-(1), (D)-(I)
@) (A, (B)-(uD), (C)-(V), (D)-(1)
(3 (A-(V), B)-(1), (O-(). (D)-(I)
@) (A, (B)-(, (C)-(Ih), (D)-(1V)

Options :

92090690385. 1
92090690386. 2
92090690387. 3
92090690388. 4

Question Number : 98 Question Id : 92090622870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 11

List 1 List 11
A, WVishnu I. Seven Horses
B. Surya Il. Srivatsa
C. Brahma I11.Chakra
. Parshwanath IV. Lotus Kamandalu

Choose the correct answer from the options given below:

(1) (A-IV), (B)-(1), (C)-(1D), (D)-(111)
(2)  (A)-(I0), (B)-(111), (C)-(IV), (D)-(1)
(3)  (A)-(IV), (B)-(I1), (C)-(I). (D)-(I11)
(4)  (A)-(UD, (B}-(D), (CO)-(IV), (D)-D)

Options :

92090690389. 1
92090690390. 2
92090690391. 3
92090690392. 4

Question Number : 98 Question Id : 92090622870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gl | & A1y gl 11 &1 A Sifore
gl gt i
() fawy () WS
® q (ay  sfaws
(C) sl () <=h
(D) Uy (V) FHA HHS

914 faw U faseul # ¥ 9! IR &1 944 S
(1) (A-0V), (B)-(1), (O)-(1), (D)-(1)
(2) (A0, B)-(I), (C)-(V), (D)-()
(3)  (A-(V), (B)-(11), (O-(1), (D)-(1)
(4) (A, (B)-(1), (O)-(IV), (D)-(11)

Options :



92090690389. 1
92090690390. 2
92090690391. 3
92090690392. 4

Question Number : 99 Question Id : 92090622871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11

List1 List I1

A Bhau Daji Lad Musuem I. Ahmedabad
B. Calico Museum 1I.  Hywderabad
C. Indian Museum L. Mumbai

D. D. Salarjung Museum IV. Kolkata

Choose the correct answer from the options given below:

(1) (AN(IV), (B)-(I), (C)-(11), (D)-(11D)
(2)  (A)(1T), (B)-(1), (C)-(IV). (D)-(111)
(3)  (AR(IV). (B)-(ID), (C)-(L), (D)-(111)
(4) (A)-(LLL), (B)-(I). (C)-(IV). (D)-(11)

Options :

92090690393. 1
92090690394. 2
92090690395. 3
92090690396. 4

Question Number : 99 Question Id : 92090622871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 1 & 9y &= 1 61 A S

& =48
(A)  HIS SISl |18 Susrey (y 3eHcErl

(B) Bl UUETEY () geRmEE
©) =fzge dusrem () mas
(D) WTERS 98Ty (IV) Hiceral

Htd fau v faeseul # 9 Wl IR &1 93 Hifoi:
(1 (A)-(V), (B)-(1), (C)-(I1), (D)-(1)
(2) (A, (B)-(1), (C)-(1V), (D)-(11)
(3)  (W)-(V), (B)-(11), (O)-(1), (D)-(11)
(4)  (A)-(In), (B)-(1), (O-(IV), (D)-(11)

Options :

92090690393. 1
92090690394. 2
92090690395. 3
92090690396. 4

Question Number : 100 Question Id : 92090622872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Matech List I with List 11

List 1 List 11
A, Shilpi Chakra I. Paris
B. Chola Mandalam I1. Mumbai

(. Progressive Artists Group L. Delhi

D. Fauvism IV. Chennai

Choose the correct answer from the options given below:

(1) (A)-(IV), (B)-(), (C)-(11), (D)-(11T)
(2)  (A)ID, (B)-(D, (C)-(LV), (D)-(111)
(3)  (A)-(IV), (B)-(1D). (C)-(1), (D)-(111)
(4)  (A)-(1L), (B)-(IV), (C)-(11), (D)-(1)

Options :
92090690397. 1



92090690398. 2
92090690399. 3
92090690400. 4

Question Number : 100 Question Id : 92090622872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl | & Ty g 1 F e Sifee

-l |
(A e 755 o R
(8) did HS@H () s
(€ wiiaelia REsR! &1 99g (e
(D) [E3Mmamarg (Fauvism) (Iv) =95

A1 fTu U fased] § 8 wel 3w &1 90+ Sifuu:
(1) (A-(V), (B)-(1), {C} (1), (O)-(1)
(2) (A, ( (C)-(1V), (D)-(li)
(3)  (A)-(V), (B)-(11), (C)-(1), (D)-(11)
(4)  (A)=(l), (B)-(IV), (C)-(II), (D)-(I)

Options :

92090690397. 1
92090690398. 2
92090690399. 3
92090690400. 4



